


▪
≡

▪ ҧ𝑣

▪ ҧ𝑣 ⇒ ∃ ∀ ҧ𝑣 ത𝑎

▪ 𝑣 ⇒ ∃ 𝑎𝑐𝑒𝑛𝑡𝑟𝑖𝑝𝑒𝑡𝑎 =
𝑣2

𝑟

▪ ഥ𝜔 →

▪ 𝜔𝑚𝑒𝑑𝑖𝑎 =
∆𝛼

∆𝑡
→ 𝛼 ≡

→ ഥ𝜔 =
𝑟𝑎𝑑𝑖𝑎𝑛𝑡𝑖

𝑠𝑒𝑐𝑜𝑛𝑑𝑜
= 𝐻𝑧

▪ 𝜔 =
𝑎𝑚𝑝𝑖𝑒𝑧𝑧𝑎

𝑝𝑒𝑟𝑖𝑜𝑑𝑜
=

2𝜋 𝑟𝑎𝑑

𝑟
=

2𝜋𝑟

𝑇𝑟
=

𝑣

𝑟

▪ 𝑎𝑐𝑐𝑒𝑙𝑙𝑒𝑟𝑎𝑧𝑖𝑜𝑛𝑒 𝑎𝑛𝑔𝑜𝑙𝑎𝑟𝑒𝑚𝑒𝑑𝑖𝑎 =
∆𝜔

∆𝑡

𝑟

ҧ𝑣2

ҧ𝑣1
𝑃1

𝑃2

𝑂

ത𝑎1 ത𝑎2

ഥ𝜔

ҧ𝑣
ഥ𝜔

ҧ𝑣



▪ σ1
𝑛 𝑖 ത𝐹𝑖 = 0

▪ ҧ𝑝 = 𝑚 ∗ ҧ𝑣

▪ 𝐸𝑐 =
1

2
∗ 𝑚 ∗ 𝑣2

▪ 𝐹 = 𝑚 ∗ ത𝑎

▪ 𝐹 =
∆𝑞

∆𝑡

▪ σ1
𝑛 𝑖 ഥ𝑀𝑖 = 0

▪ ത𝐿 = 𝐼 ∗ ഥ𝜔

▪ 𝐸𝑐 =
1

2
∗ 𝐼 ∗ 𝜔2

▪ ഥ𝑀 = 𝐼 ∗ ത𝛼

▪ ഥ𝑀 =
∆𝐿

∆𝑡

▪ 𝑀 = 𝑏 ∗ ത𝐹 → ഥ𝑀 = ҧ𝑟 × ത𝐹 → ഥ𝑀 = ҧ𝑟 ∗ ത𝐹 (×→ 𝑝𝑟𝑜𝑑𝑜𝑡𝑡𝑜 𝑣𝑒𝑡𝑡𝑜𝑟𝑖𝑎𝑙𝑒)

ത𝐹

ഥ𝑀



→

▪ ത𝐿 = ҧ𝑟 ∗ ത𝑞 = 𝑏 ∗ ത𝑞

▪ 𝐿 = 𝑘𝑔 ∗
𝑚2

𝑠

ത𝐹

ഥ𝑀

ത𝐹 = 𝑚 ∗ ത𝑎 = 𝑚 ∗
∆𝑣

∆𝑡
=
∆ 𝑚 ∗ ҧ𝑣

𝑡
=
∆𝑞

∆𝑡

→ ∆𝑞 = ത𝐹 ∗ ∆𝑡
→ ∆𝑞 ∅

ഥ𝑀 = ҧ𝑟 × ത𝐹 = ҧ𝑟 ×
∆𝑞

∆𝑡
=
∆ ҧ𝑟 × ത𝑞

∆𝑡
=
∆𝐿

∆𝑡

→ ∆𝐿 = ഥ𝑀 ∗ ∆𝑡
→ ∆𝐿 ∅

ത𝐹 = 𝑚 ∗ ത𝑎 ത𝐹 =
∆𝑞

∆𝑡
→ ∆𝑞 = ത𝐹 ∗ ∆𝑡

ത𝐹𝑡𝑜𝑡 = ∅

ഥ𝑀 = ҧ𝑟 × ത𝐹 = ҧ𝑟 ×
∆𝑞

∆𝑡
→ ഥ𝑀 =

∆( ҧ𝑟 × ത𝑞)

∆𝑡
→ ഥ𝑀 =

∆𝐿

∆𝑡
→ ∆𝐿 = ഥ𝑀𝑡𝑜𝑡 ∗ ∆𝑡

ഥ𝑀𝑡𝑜𝑡 = ∅ ∆𝐿 = ∅
← 𝑀1 = 𝑀2 𝑏 = 𝐹1 = 𝐹2 ⇒ 𝑀1 = 𝑀2 = ∅

ഥ𝐹1 𝐹2

ഥ𝑟2ഥ𝑟1
𝑏

𝑂



Dati 

▪ 𝑟1 ≠ 𝑟2 ≠ 𝑟3

▪ 𝑚1 ≠ 𝑚2 ≠ 𝑚3

▪ 𝑣1 ≠ 𝑣2 ≠ 𝑣3

Svolgimento 

▪ 𝑣1 = 𝜔𝑟1

▪ 𝑣2 = 𝜔𝑟2

▪ 𝑣3 = 𝜔𝑟3

ത𝐿𝑡𝑜𝑡 = ത𝐿1 + ത𝐿2 + ത𝐿3

= ( ҧ𝑟1 ×𝑚1 ∗ ҧ𝑣1) ( ҧ𝑟2 ×𝑚2 ∗ ҧ𝑣2) ( ҧ𝑟3 ×𝑚3 ∗ ҧ𝑣3)

ത𝐿𝑡𝑜𝑡 = ҧ𝑟1 ∗ 𝑚1 ∗ ҧ𝑣1 ҧ𝑟2 ∗ 𝑚2 ∗ ҧ𝑣2 ҧ𝑟3 ∗ 𝑚3 ∗ ҧ𝑣3

= 𝑟1
2𝜔𝑚1 + 𝑟2

2𝜔𝑚2 + 𝑟3
2𝜔𝑚3

= (𝑟1
2 ∗ 𝑚1 + 𝑟2

2 ∗ 𝑚2 + 𝑟3
2 ∗ 𝑚3)𝜔

𝑟1
2 ∗ 𝑚1 + 𝑟2

2 ∗ 𝑚2 + 𝑟3
2 ∗ 𝑚3 →

= 𝐼 = σ1
𝑛 𝑖 𝑚𝑖 ∗ 𝑟𝑖

2 ത𝐿 = 𝐼 ∗ ഥ𝜔

→ 𝐼 =
𝑚∗𝑟2

2
→ 𝐼 = 𝑚 ∗ 𝑟2

ҧ𝑣2

ҧ𝑣3

ҧ𝑣1

ҧ𝑟2

ҧ𝑟3 𝑟1

ത𝐿1

ത𝐿3

ത𝐿2

𝑚2

𝑚1

𝑚3
𝜋



▪ = 𝐼 = σ1
𝑛 𝑖 𝑚𝑖 ∗ 𝑣𝑖

2

▪ ത𝐿 = 𝐼 ∗ ഥ𝜔 → ∆𝐿 = ∅ → ത𝐿

▪ ҧ𝑝 = 𝑚 ∗ ҧ𝑣 → ∆𝑝 = ∅ → 𝑝 = 𝑐𝑜𝑠𝑡 →

▪ 𝐸𝑐 =
1

2
𝐼 ∗ 𝜔2

𝑣 →

ҧ𝑣2

ҧ𝑣3

ҧ𝑣1

𝑚2

𝑚1

𝑚3
𝜋

𝐸𝑐𝑡𝑜𝑡 = 𝐸𝑐1 + 𝐸𝑐2 + 𝐸𝑐3
=

1

2
𝑚1 ∗ 𝑣1

2 +𝑚2 ∗ 𝑣2
2 +𝑚3 ∗ 𝑣3

2

=
1

2
𝑚1 ∗ 𝜔

2 ∗ 𝑟1
2 +𝑚2 ∗ 𝜔

2 ∗ 𝑟2
2 +𝑚3 ∗ 𝜔

2 ∗ 𝑟3
2

=
1

2
𝑚1 ∗ 𝑟1

2 +𝑚2 ∗ 𝑟2
2 +𝑚3 ∗ 𝑟3

2 𝜔2

=
1

2
𝐼 ∗ 𝜔2



GRAZIE E BUONO 
STUDIO!

IL TEAM DI NOTEACHER <3


